oS 7oA tan15° o gkol a—b V3 & o, a—b ©] FL-& Fotofeh,

D
15°
30°
A\\‘*»G—/,B C
>
> HE: 1

=0

<

2530°
A< e =
--6-- B -3./3
3
tan 15° = = -9
6+3V3 2+ 3
a-bV3=2-+V3,a=2b=1
na-b=2-1=1

.

-3




2.

sin 0° X tan 0° — cos 0° 2] ZF2 A , sin90° X cos 90° + tan 0° 9] Fr<
Bet & o, B- A 9] 32?

O -2 @ -1 ® 0 @1 ® 2

A=0x0-1=-1,B=1x040=0°]2& B-A = 0—(-1) = 1




12
2 S tanA = — L I, sin A —cos A 9] F27(H, 0° <A <90°)

8 9
13 ®ﬁ D 3

10
13 ® 13
B

tan A = 20]‘34

12 5
sin A —cos A =

-/
/’ \
7 ’,/ \‘
b A , \
13 13 13 13 ll
12

v i

7 !

'3 I

/ I

A’ Ll

- 5 -




5 1 1 _ .
cosA = = D, —— + —— o FhS FOFIR (T, A = o7
> =
3
> == 3

132 = 52 = 169 — 25 = 144 = 122
1+ 1 13 5 3
sinA = tanA 12

12 0 2




oS 1A 9 0 = AABC 9] 9FHo] 1,
k2] 29] Zol= 10cm ©]th. AC = 12cm
A o, sin A 9] gk2?

3 V5 6
@5‘ﬁ @4? ® -
@5 Q3

AB = 20B = 20cm ©]1 /C =90°°| 22
BC = V202 - 122 = 16 cm
BC 16 4

SINA = — = — = —
AB 20 5




6. the IRelH BCOl PolE ot

of 2t

> E:

> He: 50+50V3
AABH ]| A
) BH
sin30° = —

AB

1_BH
27100

- BH =50
AABH o]l A

AH
cos30° = —
AB

G A
2 100

AACH £ o] gHAZgo| B2
AH=CH=50v3

adeag

BC =BH+ CH = 50 + 50 V3 = 50( V3 + 1)




7. tr23}t Zo] ,C = 90° 1 AZAZIE AABC 9 A] sinA — cos A 9]
o= HEE A2




